[ Efficiency vs vertpos |
~ 0.05

YIVES S N R -
o 5 5 5
U e e
(8] .
$.035
[
£0.03 : . :
0.025 R RRREEIERS REREEREE
0.02 i : ;
0.015F4 |- i oo e e
0.04 : : :
0.005F+H-Jh-- ikl i od-oeemeee e

Ratio
P
a1

10 0?
TP vertr (cr%)

—=— DQMSIEP3_TT_CKF
—e— DQMstep3_TT_default

ici —— DQMstep3_TT ckfPixelLess
Efficiend = pMstep3 11 defaults

~ 0.02p : : : : :
R
016F : : ' : ’
014F
012F
0.01F
0.008F
0.006F
0.004F

EHHCIRRCY S 8T

%835 ~10 20 30
TP vert z (cm)

~ 0.02

10 1520
Sim. PV z (cm)



	Contents
	Page 1


